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UNIT 9: ANSWER KEY

Foundation SKills

1. INTEGERS & EXPONENTS

M (+E7)=-15 @ EHHR)=-17
@ H+H@)= 5 @ D= 24

QA 7)) @ (2)(3)=-36
EDH(H) =3 @ (+ea)=1

@ @a)-(2) © 7N+E)=4
@ @)+@)=2
(LY+(a) =15 @) (DE)=-20

(-12) +(-8)=-20

® (6)-9)

peorLe Ger TURNep ON
BY A GAME WHeRE

L.OVE MeANS NOTH; N
Pp' b

@ 8) +@)+EV+(6)
)+ OB) = 3

@ E5)-2)+(-2)~(8)
(-5) + (3) +(-2) + (-8)
CI15)+ (3) = -1

® ) +E)-¢5)+@)-(R)
CD+ ) +HB)+(N+(-2)
-12) +(2) = -6

E2) () + N+ () - (=)
E3)HEE)F EHD D+ )
a) + (5) = -4
@ @&)-(1)-(-3)+C5)
&) +ED+ )+ (-5)
A+ 0D = 2

® )-EN+EN =) =(-4)
)+ D+ D8+ (4)
18) +(5) = -13

@ D)+E) -G HE)-CD)
EDFEN D) +ED+C)
)+ @) =)

@ 2)(3) EHR)E) = -H8
@ EB)E)EDE)BE)= 45
@ DEDERDCNED = -T2
@ (DF2)EEDE) = ~ 14
@ RQ)BGMRIR)RY= -T2
€5 GYEN(s)E2) = —120
€D N CRI(=L)E)= 144
@ 2°= b G) 8°=|

| *) @ )= -8
2227 @ EN=106

@ 71: 49 @ (‘DS: -
..-\_



UNIT 9: ANSWER KEY

Foundation SKills

G ' =3g
Gd (=)= |

2. ORDER OF OPERATIONS

O )+ “)
)+ (8, = B

@ (-8) - (6)F2)
(-&) - (-12)
~)+02) = 4

@ () + (@3x)
2+ () =10

@ 2)+ (&) + )

D+ () =2
B RB)-(-6) +(3)

-3) — (-2)

R+ ()= -

© )+ D) -(2)
)+ (-3) ~(2)
)+ 5y (2)= -l

@D (B)--H) - =) -
-3) = (R)-(-4)
&)+ (-2)+ (W)
=)+ 4y = =

G =32
& )™=

G) Io¥=10000 @ 5>=125

@ @)- (3x2) + (2)
Q) ~(6)+ ()

) - (3)

)+ 3)= -

@ ) x 2) + -4) - (=)
Ce)+ () - (=)
Co)+ 4+
COFEY) 5 =3

L) + =) = (D)

2) - (&)

)+ (-6)= -8

M &)t=1b
2 -2 %= 16

@ -7 =-49
@ (H)>=-64
@ (5) =25
@ -21= 3

: = o

@ )=

1€ § HADIT To Do
“'ALL OVER AGAIN

i'D PROBABLY
HAE TO DO T
AL OVERAGAIN,

=

_-2_



UNIT 9: ANSWER KEY

Foundation SKills

@9 -1°=-|

)% =2>
q) =2
ca)+ (-8) = |

@)° - (-3)"
(D= @A@)
N+ ()=-%

G )P+
27) + (=23

@ @1-2°
(b)) —
Qo)+ EH= 12

CNHED+ (32)
@23)+ () = 32

@ (2)-C9)
2) +(5)

) +(H) _

2=
2)+(5) 2

@D (2)-(2)H)
E) 15D

2)-02)
“2)- (-15)

C-SI)-'-(_'Z) :.:.—!_5_. -
~)+(5) 12

-5
4

G) (D=’

-2

(N=0) e, =3

-2 -3 B

D2+ 1) _ (A
-2%-2 T

D+ Tl 2

@ 4= )=’
-3

— 1 = (N-0)
=3

Sl+ENED . 2 _

=2 -2

@ -2 -2)*-(-2)*
2 -3*

3-(8)-(4) _ B+EHE)

3-9 34 (9)

3. EVAL EXPR

O a -3b
=) -3¢
) - (-3)
D+ ) = -

@ 25 - Hc
2D -4
-2)-072)
(-D+E12) = -4

@ 3ab +C
3E)ED + (2)
L)+ (2) =9

@ doac -b

BE) ()= ()
2 =C))
24 +(1) = =23

...3—-



® ab -ac
() = (2(3)
(2) - (-6)
(+(6) =8

© abe -b
CENG)-G)
(6)~-(=1)
(6)+0) =7

@ 2b+ c-2a
26D+ B)-2)
=)+ (3)~(-4)
=2+ () +(4)
E)+() = 4

@ o+ 2bc -b
2+ 3EN(3) -¢1)
@)+ ) -G))
)+E2)+Q)
AN+ = -lo

® 2ab-c+b
22D - B+
(P -(3)+=))
CHHED+ )
D+ EH=0

3pb-20b +C
2N =2 F0)
-3)= (4) H3)
(-3)+ 4+ (3)
EN+R) = -4

UNIT 9: ANSWER KEY

Foundation Skills

) -200)
- )
D+ E) =2

@ a®+b’c
@234+ CDX2)
(-8) + (N (3)
B)+(3)=-5

@ 3b-a*
3¢-D-20-2)*
2-D-204)
=)-(g)
2)+(-8)=-||

® Ot.b?" '.'Cl

CaEN =@
YD -@)
)-(@)

() +2)=-7

©) 20*b* -
2 D= (3)
2CHNH=(3)
(@) -(3)
®)+(3)=5

© 2b3-abe
203 2)YA)R)
V) -EC2)ED()
2)- (6)
3)+(6)= 9

@ 4™ -242 -
H (=)= aC2)
H(N -2¢8)

(1) — (-16)
(D +(16) = 20

® Hac + 2b*C
HED(3)+2 D)
Y+ 20)(03)
(29 + (L) = —I8

aF=ht=ch
2P -D*=(3)
Cs) -1 =(@Q)
&)+ + ) =18

© a*b*c
ED D (3)
WYY E)= 1=

{F YOU HAVENT SHOWN UP
IN Five MINUTES, i'M GOING

TO WORK WITHOUT You I}

@ 20 -Gb+C)
22) - (ED+ )
262)-(2)
-1 - (2)
) +(-2) = -6

con¥inved



UNIT 9: ANSWER KEY

Foundation SKills

@) (a+b) - 2 b*
(DY)~ 2D

C-3) -2 hH*
-2)-201)
G2) =)
=)+ (2)= ==

@ o*bc N (—1)1(-0(3) G)[G)E)
b+C G+ (3D N +(3)
-l o5 i =
A +(3) 2

@ c*-b _ B-H . @Q-CD
8a-b 2)-¢)  &2)-CN)
@)-¢) - (@)+0) - 1o _ -2
Cy-C)  Cle)rwy 153

@ -a(arb) _ -2 (eDren)
3c+b B3 H G

263)_ b _ 3
G+ 1) g o

WHiLE YOU'RE WAITING

FOR YOUR ORDER,
WOULD YOU Like A
NiC€ CUP OF COCOA?

@ -3(b+0) - =3(EnN+E))

Sa 5(-%)
—2fz) "= 2
5¢2) -lo S
@ abc-a _ FDENEY=(2)

Hbh*-ab 4 (=)= CE2A))

(D) G)-C) - (6)—(2)
HOY-CDED (D= (D)

Q)+ - M - _a
D+ E2) 2

@ ao* P Epe < QN *-2(3)
2 (o¥o) 2 (D + D)

(2P 26) _ HEN-263)
2 (=2) 2(=3)

)-(6) _ cD+Eh)_To_ S
) (=6)

T 3
REVIEW & PRACTICE

O e)+E8)=M @ E2)-0)
E2)+1)= 10

G (2)-CH)=-3

@ ) x(2)=6

@ 1)-E)
-N+@=5 _5-



UNIT 9: ANSWER KEY

Foundation SKills

@ (DHxED) =B @ E3)+01)
2

@ a)-(3)
)+ (&) =17 ® @)= (-3)
-3
=7)—(-)
CDF= =3
| Tt
100 000D | [
100 oo nnﬂuu |
NO ...i DON'T
WANT TOTRY FOR
DOUBLE ORNOTHING! /

D @) +5)-2)~(1)~(-5)
D) +(3)+ () + =D +(B)
Co)+ (7)) = -3

@ ) *(-D)x(3) x ()= 24

B €©2) x () % (-2) x(=2)= 24

@ @)~ CP6)-() - 2)

&)+ (D) +(=6) +HT+(2)
-13)+ (1) = |

® v =16 @C—-l)*: l
©2*=-8 @ -3* = -9

@ 5°=125 B -5Z25
@ ):=-27 @D %)°=)
@ (—l)h‘:lb @ _3%= 7
) S =4
@ = @ -3=-8
@ -1'=-l

@) =T % (9) - (8)

D) - (28)- ()

-+ 28) ¢ %) = =40
@) (b) = (H)E2) —(2) + (2)

(b)) = (&)-(C-12)+(3)

(L)— (8)— (=4)

(L) (=) + (4)

() +(-8) = 2.

@) L)+ E3)x (4) —(=6) + ()
-2) + () - EL)+(1)
D)+ (12) +(6)+ 1)
-3+ Qg) =18

€2) (-10)+ (2)-(3) + &) +(2)
() -(3)+ %) + (2)
(5)~ D+ 4
()4 (3) +(~4)
(8)+ (-4) = 4

@ 3"+ C2)°
Q) +s) =1



UNIT 9: ANSWER KEY

Foundation SKills

B )~ )°
D -0)
(=1t ) =-2

@ 2)-2>-(3)
2)=9 = &a7)
EDF+EA)+(27)
N+ =1b

@ -6 - (—2_)4_— 23
- - U)— B
—1+16)+E8)= -5

)= ()

-4 - - Q)
— ) (=) +)= -9

@ D-2° _ @)- -8 _

2)* 4 L‘
@ )63)-3* | (2(-)-9
-3 2)-CD
-9 - @D -2 _ 5
)Gy | Ry =
@ 2a-b @ ab-3c .
2.6 —(-32) ENED-3E)
2)—(-3) 3)-(-6)
2)+(3)= | (2)+(6)=9
@ 2 +2c @Y Ho-b -C
2(-D+2 (2) H=)-(2)-2)
&)+ ()= EH)-(3)-(2)
D +H)+)=|

@ 2.0 =5
2 NE2) + (-3)
)+ &) =

@ ClC =0 6.
ED(-2) ~ CDE3)62)
() - (-6)
2)+(6) = 8

M o>+ b*
=D+ )T
cN +@a) =

...T0 Be CLiGiRLE FOR
ROV ARC ST DAYS

FOR'I‘He,
g,;\'e Seronp THURSDA!,»

@2ac.

2En I 2)" .~
20— (-8)
-2)-(-8)
CD+(8) =06
@ 3al*-20° C2D-(2)

3ENE)- 2T D=1
3E-H@)- 20)

_‘7_



UNIT 9: ANSWER KEY

Foundation SKills

® ac-2b
D=2 - 2.(~3)
CHGEL) -2(3)
(-2 ~(=6)
) +() =4

G o*-b*+c3
ENE=3)4+ ()3
D= (9)+ (-8)
=) +(-)+-(-8) =-12

6 a?bc?
D))
(D -3)E8) = 24

B 20 +3b- (b+)
20D +3¢3) ~ (3 )
2() +3ED) - 5)
(=) +=)~(-5)
)+ (5)
EIN+(5)=~6

&) z2(arb)~c?
2 (@ EY)-2)*
2 (- 2)3
2 ()= (=%)
&)%)
£)+($)=0

@ 2(a+c) o +c*
2 (0+ () ~()*+E2)
3 (-3 )(=1 )54 (2)*
33D+ M)
=) -0)+(4)
(=4) +(=1)+ (%)
=0)+H) = —b

@ (a+0) +0* b
(N +E))+ (3D

(=) + (DE3D
-+ 3= =7
6 a2bc . EXEYR) | OE)E)
a-b DD )+ ()
b -
==3

20 —ac® _ 261)-EDED
a*-2C G- 202)

26D-ENE) | (R)-C4) _ 2+ 2
) = 2(=2) (NH--4) O+ S

& .2, 2b 2
a+3a

D4 26D
3¢
o) _
(22 6D

M+ (2)~(H)
2+ =7

3

C 2
@ Qb—za--}-b

3
~DE3) - 837 cay
2(__')-)-(3)

NE) - EB 4 ()
-2)

(3) =~ (4) +1q)
R)+E) +HA) =8




UNIT 9: ANSWER KEY

Foundation SKills

PRACTICE TEST #1

O Ez) D)
(ma) + C9) = ~2

@) 27 ==%

€ c-z)-lc{ag-;j-c_q)
) - (=15) —(=4)

)+ (Hs)HEH = 17

@ -2 -2)>-¢5)
-4 - (=) -0
4 +E+EN=3

-5 gl
® iﬂ 5 x_z i
) -2E3)-1)
3(9) - 26-3)(1)

(2) - (-6)
G2)+(+6) =18

© uyz -(xr2) _ E)-(@ren)
2)3-2(-3)

9= A

(2)-(4)

- -
%) ~(-6)

%) —2(3)

)

- 6 _ 25
8)+(6) -2

PRACTICE TEST #2

1) - 8)

& E-I!LLR +(+&) =76

@) (—5)1 =28

@ (-0)-IEE) = (=)= )
D-CHD - (=2)

EDFED G = Y

@ 2= oS-G 2
¢q) - GHFD-GN -4
@) + DN+ (DHEH =3

3,23~ 2ab

® 223 2 (D))
3D (-8) — EDE)
(-G
(2PFEY) = -2&

2

® 2 (brQ)-b>  2H)-)
iR B R

2(-8)-() _ o+

- (a)-(-2) -4)+(2)
=
-



UNIT 10: ANSWER KEY

Simplifying Expressions

1. COMBINING-TERMS

D A+3%+Z+8 = 4x+7

@ 36+ +Z +9G = 7y +9

O e L e

@ Y& +26 36 4B 7735= 20+ -
® #-Hb7Fo= b-o)

© )y -H6-365+B056= 6-5b+2a
@D 26+340 -4 -3~ 3K

-a+ob

@ By A =24y -2

AX =Xy

@ $4 + apih 5 9 -

Amn

O 26-20k 4% 5 - 5
Ho-2ab

@ W+ - 2%y K- 3%

Bx —% =3y

@ ¢ - 25> $5- G - 425

—3xy —3x* +3 Fax
(:)Qgg-gﬁﬂ%5+%€‘za—ﬁﬁ

ah —Ba +5b

@ 75 26 -390 A +4abh 6
6b -3a +ab

@ 36-K+2905 -Ba +x6* ~ak
Eaz——éa +ab

© o -26 +5a> 20 +b -26,
Go* - 5a

@ or-pk 99 353 ruG ok 3

| =X =3x*

@ 473G+~ 9 v ~ZR+ x5y
Ix* =2y +xy ~3x

I =3 ~2prin ¥ =4 +p

AM =) —amn
@9 Uy -3 — i + X7 — R A H

Sm -—2_\’] —lmn

@D 362+ 29k —aF 15 —ab +.

20> +ab+7

JUST 1N CASE You DONT

COMe BACK, You've BeeN
WONDeRFUL SOCK !

_.‘o...



UNIT 10: ANSWER KEY

Simplifying Expressions

@ &-30%6 F o B ol FudE N

2 -aab +32a*

@ HE X6 &K BB -3
25

@D 4 - ZRY FESE K K AR
2% = 3%y +2xT

@%3-,24 e 5’3/‘)7}/5

2><5 -3 x? ) g e

&) Bab -o¥ sz—aag‘-za%
202h - Hab*-2 +a*

@ Y% - ;/x?’?&’- 352 4K X
Sx ~B5x>-3x%

@ G - 45 o

5n* -V)-"7ﬂ -
@ G g 2y +ALY -2

e 3><5 -y

GO Lk -k + akse —3pb X6 ol
Go.—Hab +abc

.-« AN OVERSTUFFED CHAj

|s ANHJ CHAIR | HAPPeN'R
TO SITIN ! ...

2. DISTRIBUTIVE PROPERTY

O 2(x+y) = 2x+2y

@ 3(a+b) = 3a+3b

3 4(34-b) = 2a -4b

@ 2(x-4y) = 3x-)2y
® 2a(a+b) = 20*+2ab
@ 3x(x—2y) = 3x*-6xy
@ —5(3x-2) = -ISx+I0
® -2(a-7)= 2a +'4 .
@ -x (3x-2)= -3x2+2x
-b (Ha+b) = ~Hab-b*

@M 3(x-24)=2x +3¢
% =9 - X% +XY

X =34
@ 2(@+3b)+3a +2b

26+ 66 + ZE+ 25
So + 8b

®) -3(%-2) -8 +2x -4
—2% 4K A& FE= N = -6

M -4n+5)-2n+7+n +13
—Y% - 28 -2 A+ = -5n
e



UNIT 10: ANSWER KEY

Simplifying ‘Expressions

@ ax -3(x—4)-2x+5
2~ L FNE — XD
—3x + 17

2-2(x+)) ~x+7-3X
F- Wik —of 7AHT B
B — BX

@ 2x(x-3y) =3(x*=2)+xy
25 =GRy -,?ﬂ'“vg*-»g
— % ij-l—

® a (a+b)-3(@b+a*)-ab
267 306 - 3edb - 20> —ohs

-~a*-3ab

20, (3a+4Ho) -2 (a+4)
6> + 2ab —28b-80
Ga2 +bab -8b :

@9 3x (- -3y)-2Y Bx-\-‘-\g) )_33-
6 - Iy ~ Ry B> -

)2x*=1ExY — 10y >

@) 12a-3ab -24(4-3b)-Satab
\Xo-3db -804+ bdb -Ba+ods
-a4+4Y4ab

@ H‘X‘lx‘j "X(33 —2)+X3-?_x
WS 2Ky = 34y 25+ A%
4 — 4y

@3) 3><5CV<-7-3) Hy( 2+2xx_/_’) 2%y
352y SRyt - Wy - 2K Y ~2XY

et = ’DKS

@) 4ab (a+2b) -2blab -a>) +ab?
Qg2h + 1340 - 226> +HelB +ob™

gazb +1lab*

@ 20 (6&-3a) +a*(Ha-3) -5a2
263 - Ka" E] %3 -2o* ~Z62
o>~

€D 2n (Hn -y )= 22 (G-2n) +n*
FhE— 203~ 10>+ En3 v

-n*+4yn*

ToDAYs
B 9PECIAL

REVIEW & PRACTICE

D z60+B+LoxX = Ada+7

@ A%+ 24 BT +8n = 12+
B 557 ~Zx A
@ B+ -c - =

= 2% =4

-He -2

...-]2.—



UNIT 10: ANSWER KEY
Simplifying Expressions

B ab-26+A0-Bb = Gab +a @ M- F % + 25258 p&
5 =3x
® 7%-5%y +3x +¥9 = 10x ~Hxy
x ’ e B Shn —A>+Fm + T —pin -Bm
@ Z-26 +5ab “H+%6 2o +odd Tmn +Nn7=2m

—l-b+6ab -2da
®© 2(x-9y) = 2x-2Y
@ % —3Y +BX TH =5y +4 A K
-?ng;-s-jg +Hx +3 @ »Ca+b) = Bat+3b

@ £ + 35y 1~ XEY ~AGE $&* 3 (ax ="y = bx-12y

& -3
i e @ B (R +4b)= 1Ba+20b
ok $B* £26% -Hab BT AT ;
~-Sab +4a* @ -}x(x-—\:}) = —2ax® +2axy
D) V2 =30 o -H=2 B0 @) -2 2m+n) =-bmn —3n*
L+2n—m

@) 2 (a-3b) +3(20+b)

..o You BeLieve 2 - b+ 66+ 235
iN LiF€ AFTER Being ga.-3b
STePPEP ON ?

@ H(3x—y) -Sx+HY
lXx-%—B’X"'% = Tx

D %o -3b + 23(a-2b)
Zo -3+ -0
Na-9b

@9 px —2(3%x+Y) ~Hy

X% - % - 30y = HG
bx-6y

e gn-4Gm-n)+5Sn
B Yb6*+20-26> +4-5 +Ba B - +YUNn +ZN

a*+8a -5 I7n —8m
—-)3-



UNIT 10: ANSWER KEY

Simplifying Expressions

@) 2(3x—v) ~3(x+4Y)
bk =20 = BX =Xy
S0~

3 (2n +9m) —H(n+2m)
= 6 + 13—~
2N +494m

@ a(2a-b)-bBa+2)-4Hb
262 -6 ~3adb ~ 3B —'AH
;uﬁ-#ab—bb

O Hx (x-4) ~x(3x+2y)
-y =B~ LY
x1—6x5

@ 2x(3x-59)+ 9 (xy-3x>)
L= -10%y + Ry = X
~bx*-b %Y

30 (a-2b) -4 (Ralb+a*)
< —%?“-ﬁq,c{b—ﬁdb-%z
~Ta%-20.b
@ Kty -34yt -G+ KLY
X"ﬁ +2xy* + %
~ 362 b + b -2k 02D
@ 62:?;%) -Ya2b-2ab*
@ 2y (xuy -2 ’-)'23 (g-lx"‘)
By gt - 203 Ty

€0 26 (ab+b>) -2b(2b +4a?)

SA2b +24b - bB>~1xa2b
i

@) 20b(a%-3b)-Ha>@b+2) a*
243b - AL* —Hadb-gaZ A~
—203b - bab*-9a*

3y (25079 ) =92 (xH2) —x Y

@/ij_ 3&31—743)1—)@1—%}3
Bx?y - Hxy?-2y*

We CHECKED [T OUT,..

APPARSNTLY TTONLY RATT
WHEN You'Re i 1T 11 e

S AN
>0

....'L.l_.



UNIT 10: ANSWER KEY

Simplifying Expressions

PRACTICE TEST #1

) 20.+2b -Bab +4b-5a +ab

)} F-utei -Hy2+2 3y
=2

3 23(=x-59)
bx-15Y)

@ 2(a-3b) + 3(Ha-~2b)

20-bb+ 2a-6b
INa—12b

(B 30> -20(a-2) +3ab
3a*-20r+2ab + 3ab
a*+Sab

® 3x*y "lX(Xﬂ —x) +3x?
B2y =LY + 3t
XY+ 5x*

PRACTICE TEST #2

@ Hx-3xy T8x-y thy FHxy
12 + > +HY

@ 12--2-5*+5 +3c >
\S — x>

@ 2(4a-b)
Sa -2

® 2 (2x-59) =4 (=39
bx =159y -4Y4x+)21y
2% -33

©® Hx*-2x(3x-y) —2xy
Hx* —bxE 4+ 2xy ~2xy
- x2

© Bozb -a (3abt+a)-4a*
Sa*b-2a2b ~az ~Ha*
2a2b —Sa*

-« 1TIS NOT BROKeN,, BiTooyp
M'rbu;wﬁx IT8OITLL GIve Me A

_ls_



@ 44 =7
@ Ju=12
® V=5 =5
@ O =)
® =~
@~z =9
D~ =2

UNIT 11: ANSWER KEY

Radical Operations

@ -2 = -
@ Jieq =12
©@ (400 =20
@ = 4%
@-4a9 =-3

3 <96 = -4
225 = IS

CRNCENT-RNIT
B Be<z7< 1
@ e <~Ni1 < -g
©®-L <-BL<-\25
J&1 < &7< Jioo
@ B <5< I
@) <Jyq <~{Go <-J3b
@) -Je) <~ <-J6u
@) 19 < 55 < &4
@) I < {2 < v
G5) -fz5 < ~\20 <~ Jib
@121 <-Jjo5 <o

z<ls<y
b<z><7
-4 <~y <=3
—6<-pRbL<-5
9<{a7<10
9<&5<|0
~7<~{40< -6
-q¢-J70<-8
7<{55<
<o <2
S <24
=1 <~108 <=0

E

() &=t

£ -4 -3 -2 -1 0 |

R4S oo

H G T
@AJ’! —_ !.'l’: +—t :'L41>
S el o) I EERE T By
J K [
@<%J’! =] +=J’: t :J': =
= =3 2= O ] 2.2 5 6 7

2. SIMPLIFYING RADICALS

ORED

222223
22J23
46

@ 54

2
ENPYE)
36
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UNIT 11: ANSWER KEY

Radical Operations
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UNIT 11: ANSWER KEY

Radical Operations

3. COMBINING RADICAL TERMS

@ 247 -J7 =2al7

@ 2-5Js5 =-2{F

3 26 +2i6 =56

@ 4z +7Jz3 = 1IN3

@ 2z -202 = 3z2-23

© W5 +3J7 = W5 +377

A ad7=547 =7

Nz -3J2 = 3{2

@ 7-2{7 +2{7 = 247

BNz -2{3-J3 =23

W 2Jz-a5+25-3J23= {5

@ 2J7 - 235 +13J7-27= 738
® N2 +207 -3 -6{2= 203302
@ 35+ -2EHE = 285 +l6
®@ 300-208 +3[2 -0 = 3L2-2J5-110
3F7-23+2{7-2E = {7-5{7

™ 3{z + {ig -J50
32 +28D- N2 ED
32 + 32 -5Vz = (2

(@ s + 20 ~\i25
WS +@3s5 - EDs
WS +a{s -5 = &

@ 4z -3J6 -Jg
Wz -206 -2
WE -2 (=22 = 20z ~a{6

@ 22 -\ + 2450
B2 -6y + 226D
HJZ ~23VZ + 1odz = I =

@) 257+ 0z -8Vv3
283z + &z -3
6Nz +2y2-gJ3 =0

@ 3z -a{20-s +2Jn2
2E-aBED5- 5+ 2853
3z -5 -VS+H2 = Az2-50E

& 28 -2{p3. +\75
2ED7 -3\G23 + (36D
H{Z - 63 +5{3 = 2 3
@) 3(3-2d45 + )08 + 6V
332835 + 23 E3+4(5
WI-L5+6{3 + (5= 9q(3




UNIT 11: ANSWER KEY

Radical Operations

@ 208 —i2s +al8

226y - Ee2& 22z a2
a{z —g{ZT+ 4z = 5{2

@) 216 -3ist +2
2C -2 026G + B2
G -ave +2{z = 23 -6

@ 288 -3{3 +{50

2& P2 -34\2 + 2635
H{3 —qiz_ + 542 = O
@ WWm=7  O-&= 9
B c A
oY, A S R T

<~ t T

e e e | A e T}
-5 -4 =3 -2 -] O | 23 4 5 6

HOW BAPIS iT 2., LeT Me
PUT iT THIS WAY... ] WOULDNT
PUT THAT BACK IN YOUR
MOUTH iF | WeRe yoU...

4. MULTIPLYING RADICALS
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@ 7 )3)=1z1
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We)*
J36 =6
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247
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2G5
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@ WE)AE) (D)
Jiz0

NZi53 305
Z.120

G)Gle)2)

2 {36
G)= 12

® 2(2E-B)
s -2{3

@) 2{(z (=)
2{e -a3

@) 2(S @Io-\B)
650 -3{25
(2ED-2E2

3042 -3(5)
{2 - 15
-9




UNIT 11: ANSWER KEY

Radical Operations

@ Jo 3 -17)
208 -V
23 - \E3s
eNz -2{3

@ 27z (33 -\12)
6\t - 2436
6(2) =2 (6)

12— 12 =0

& 3 (adi-243)
436 - 2q

H(6) = 2(3)
24-06 =12

& C
@, 3% 4

b |

Ty = 8 T T t i T
s-4-3-2 -1l | 23 Y4 5 6

2
=

@9 202 +V8 -3(2 -3
3EI3+ Bz -2z -3
o3 + 232 -2J3 -\3
5\z -2

@ wig —\25 +{32 +{S
HRE&3-ED S~z +\5
242 -5VS + W2 +5
loVz - s

@ 224 27
2G5S - BT
WG —-3V3

@ 5iz + g

5\G37 +EICIC T2
jIoJZ + 82 = 182

@ 3 (6 -23)-34z

\Nig ~209 -3(2
&S -2E3-3V2

32 -6-3{2 = -6

6D 533 - 3Jz (Le+12)
SZ -3 - 224
53 -3 3@ 3
B -613 -676 = —{x -¢&l6

'Enlu :1 lE" 1"'11?

REVIEW & PRACTICE

OJ5 =2 @-F=7 ®f=

g-\]@’-'* @Iz < 55 <M
=& =~9 =N

Gﬂxﬂzﬁ i I <Juas <12

-0~



UNIT 11: ANSWER KEY

—Jz5 <=9 < ~lo

-5 < -9 <Y
@ ~Nico < ~Jes < -8l
—~10 <-g5 <—-9
c B A
@<:'J’::;:“’;+:'r:—'r“":.‘>
—p-5-43-2 -] 01 2 3 4 5 6
D =5 F
@(:1‘.::“’::5:‘.‘."&{%4’}&
7543240123456 78
@ \Jleo @ Hzeo
i NeD2ET5
2.2N25 H:2,3 Jz'5
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E257 e
2 BT 3.23
2NzI A EY
@ JQigo CENETE
&32-@35 52 7
235 5.2 {27
6N NI
® Jiso @) 2275
226D 3N3 'S
S5\ 2.3 3.5 N335
5V SN
296 @) 4419
N e ot &)
2:2.2N2.3 H.2.7
g\G 56

Radical Operations

@ 227 @ 3J128
2E3> ENCE v r )]
2:3(% 322.2 J2
63 24z

S| |

R|LIBRAR

@ 2B +23- 45 -33=-E 2
@D 6 -2{3 +3{22+23= & +2i2
G0 B -3J5-2J7+3J7 =B +{7
&) -3 -3V2 +{7 -4z = ~3-52
2J5-203+ Vs +2l3-E= O

@) 576 —J7-376 -2J7+76 = 3{6-3{7

& {@)(al3) E@AB) (2{s)
248 25
22D
@D (2{3)({5) N ES
A2
6> E3E)(2(6)
2{@2> i
NEY f; g D

.—D_l_



UNIT 11: ANSWER KEY

Radical Operations

@ (3{Z)° G) (7)™
Gose T
G 2=

.,  @®@deye)

@ (J5) J48
425 '3
H(5)=20 EREY

@ (376)° G (5E) W)
436 224 =12.&223
@ (6)=54 246

@ 2J12 -3J3 + 975
2G33 -3V +WaED
Y\[Z ~3V3+20\2 = 21yz

@ Vg + 312 -450

&22 +3(2@3 -1 &D
292 +4Gyz -20V2 = -9

@ 245 -2z +3{5
3 E>s -2&2D2 +3Vs
IS\E ~tH2+3]s = 18{5--W2

@ W7 + 25 -30%

+ET3 +2EDT -2 T3
12{3 +6J5 - 643 = 63 +6JS

® [ - +
263 - @327z + 2@
32 - Wz + 712

ez

@ {200 -3]l08 + 2 B0
222G 9 -3 I+2:0E8
oJ2 - 183 +10¥2 = 202 ~1843

J2 (al6 =3}

215 - 349
2zE3-3® =629

@ Jz (J8 -242)
N1 — 2\
4-20(2)= 0

3G (o-502)
- 23z - 156
3\2E3 - 1576 = 9lz-I156

@ 25 Gy +{2)
Edne & 26
6 (5) 2o = 30+2410

OPPORTUNITY KNOCKeD
AT MY DOORONCE ....

«.SLIPPED ON MY WeLCOME MA
ANDSVEDME FOR#75,000, J

/ T

I
e e




UNIT 11: ANSWER KEY

Radical Operations

PRACTICE TEST #1

o

0 i 3 i 1

==

< T ¥ T T i L L L] 15 L h=t—t
55432~ O | 23 4567

@ J%o= E2E.s =66
@ 4JHoo = 4 [Z2@NED

4.2,.2.5 =30

@ 43z -{3 +afz +3{3
6z +23

® GIB)EE)= 150
|B@§ = 15.2(58 =308

© J2 -vlz -3z
N NEREN TGS
e s =B s e

PRACTICE TEST #2
JZo

(:.!..,:=:=:l’::>
-5 -4-3-2- 01| 23 4 56

@ 250 = J2E5s = 50

CENE I EN T oy
22022\ = 242

O)

@ Jo -2Jz —3{c +3J2
-2J6 +\{2

® E)206)@EIE) = 60
6J2G35 = ¢-310 = 18(i0

© Jizs -4J5 + a2z
EB 5 -5 +2EI5
s{S -5 +6{8 = N5

THE PAIN 1S JUST NATURE'S WAY
OF TELLING YOU iT DoesNT
CARE How You FeeL !

&




UNIT 11: ANSWER KEY

Radical Operations

(1g) + 72 =c*>

WE INTERRUPT THIS PROGRAM
S it o zc*
ROOD -~ -
o+ +0e0.. DON'T EAT OR DRINK c={o = \/_1_@—; = 3Jj0
ANPTHING UNTIL FURTHER NOTICE!
8 M) TF +he diameter of the
cone's hase 15 8, the radivs

o)+ bt = )

THE PYTHAGOREAN THEOREM S
b + b G
b> = 64—

@ al+ b :CL b":l_,,g
W+ &) = c* b= {4g =JG9ED3 = N3 i |
e + 64 =c*
0 = ¢c*
¢ =20 = @2¢25 = W5 km ®a"+b" e

6 U Hn

(10,0000 + b = (15, (25D
b>= 15,625~ 10,000

-

@ A= ez e *
b*= 5,625

2D+ b" = (6)*

@EZ)22) + b> =36

C(HTF) +h*> =26
Z2+br=306
hb*=2%6-%

hb* =228 |
b= {28 = @27 =2{7 &+

@ 0\1 +b?* = Cl

GEY + () = c>
EGR)ER) +GRDER) =c*
@GR + Ge{q)=c>

b= \15)62_5 =75 m

uwse +he \ key on “our
calcvlator Ho delerwine

that 5,625 =75

otax b=t
@G+ &)Y =c*

26+ 64 =C*+
c* = 00
¢ = oo = Joth

_:Zl_\.....



UNIT 11: ANSWER KEY

Radical Operations

G a2+ bt =c*

(2)*+ (6= c*

g +36=c”

crE4o

¢ ={5 =E»5= 25m
® ar + b* = g=

)* + (12)* = c*

o4 + MY = c*

c* = 20%

@ T# the base of the vodt is
24, half +he base is 12

o>+ b*= ¢+
G+ 02)* = c*
ge = pp = o

c: =169
c = \iea = 12

NO, i'M NOT A RECORDING |1
..... ARE OU P2

az + b =c*
W+ b* = (o0)*

I+ b*= 160

b*=)00-16

b*= g4

b={sg = @227 = a2 T

)y o=+ b* =e*
)*+ b* = (o)
(WE)(HZ) + 157 = (WIoX(Hio)
(o @) + b> = (16 ic0)

232 +b*= )60
b* =160 ~32
= )&

b= & = E2@@2=8l2m

@) TF the base of +he large
Hiangle 1S 63, hatk +he
base 15 23
Qz+ 2 :-‘C-L

)2 +b* = @)*

(afd) + b* = &)

27+ b* =5

b= g1-27

b*= 54

b= 5% = 2G.32 =3¢ in



UNITS 9-11: ANSWER KEY

Cumulative Review

D B +(+7) =4
@ ) x(=) =24

® 7)) -(-5)
CR+G5)= 2

@ ) + Gu)=-

B )+ -ED4 Co)~(+8)
=)+ D +ED H-)+ )
GD+HE21)=-14

© -3) X(=) @) x(2)=-12

G@i~eteas -t~

® (5)*=25

@ 9°= |

)%= =27

M) (b)) x (Y +(4)
6)= (Fo)+(HD
)+ () HFH=-3

B[ T OHE) <G5

(+H-=10)

EFD+H0) =14
) 2~ (-2)*

(-2 - (+4)

&)+ (9) =-17

) ¢3)°-2*+ "
@) -9 + +16)
ED+ED+H16) = 8

B ED=-(-3° _ -
(o)~ 2% (+36)- 32,

EDtETD | 28
36+ H

=7

(NER) -4 +5° _ (DED-1et)

2)* =2.69) @49) =260
(+3)+ 16+ | N Py
) + (2) =

(D 2a -3b +C
22 = 3(2)+ (1)
o) = C6)+E1)

o) +(+o)+ (1) = ~|

gy ab* -2 be?
EXC2)*- 2(-2)ED3
E)EH) =2 DD
(-12)— D
12D+ CH=-16

@ -3(a+b) -c*
-2 )~ (=)
-3 (-5)—&)
E8)+(=) = b

e



UNITS 9-11: ANSWER KEY

Cumulative Review

2ab —abc a (a-b) + 3a* -2ab
2 (2)(2) - (R)R) 02—alb +3a2-2ab = Ha-3ab
@12) =~ L)
(rD+Ee)= 18 B9 2x(x-3y) Ty(x-3y)

2> bxy $xY =3y = 22-Bxy=3Y"
@) o2 b*c _ EY ) J

i T D) G 20 (oa-b>) -b(ab-2)
20220l - a2 b
(H)G—'-l)[—l) = =86 q 20\1—56\b1+2b
2 (-2) o=y

32) ( 2x-yI—y OeA2) 32X
X -4 = — )(LA -533"‘}- 2X
@ 2a4+2b _ 3()+2(2) ox-1™ 7
bx 03 C_)_):.(_D':‘.\ ;

JOURE NOT GONGTO
ORDER THE |OBSTER
ARE YOU = :

2(2)F2(2) _ EDHED) 31
G (=) (G ) I B

@) Yx-3+2%x+7 = bx¥4

@ N-3m+9-2ni+m-3

-n—'2.m+|
@—az—ab+5ab “10\2-\'}0.&) @ \hos :\Aii]@ 2 Q,JE—
-2c+-2ab :
@ z R @ \/'-E s 25 = 210
N -2nm+ 3> - +Snm
Hin*t3nm -4 @B V25 = VoD = IVE
&) 3(x-2y) -4 (xty) 2J27 = a3z = 63
5ﬁ—bj—ﬁx-"~ﬂ
5% ~10Y G -2\90= -3 23=-1206
2(a4+b)-3 (2a-3b) @ 2 = 225 < 85

20+2b -ba+qb = -Hat+llb
...9_7_



UNITS 9-11: ANSWER KEY

Cumulative Review

39 (2)Cl6)= 201®
2 = 6dz

G (H8)= 1220
2J&D5 = 24VE

@ GI3)* =@R)=27
@ IE) =®)(E) = 20

@ 273 (43 &)
@) - ()
24 -2\263 =24-6{2

@ J= (2Jic ~J6)
220 1>
32225 -R223=6{5-2J3

G 3 + 2Ji7 -7
T+ 2895 -4 BES
N2 + 43 - 2003
N EY

@9 220 - 237 + 25

s 55 - 2595 +2 &35
eSS -~ 2 +6J8

125 -6{3
@9 2332 - 23150 +J63

20362 -2 2B+ \ED T

22 ~-Isyz +3{7
-2 + 37

Q9 25 + 5080 +2J80

JEBD 5 + 5\e3E D5 +2BIED
S{s + 205 + 18
255 +\g

@ 34200 -2as -3J72

TP 2160-2 30D -1 E316D
ZoNZ - IHVZ - I3VZ
__)_\]—7:

Jz4 +2Js54 -5Vis0
&223+2J2G33-5J23&5H
206 + 66 -25(%

-17{G

PRACTICE TEST

O B+ EH5) -G1)
2)+D+HEDHH)
#S)FEN) = —b

@ )+ =S

&) @)=

) -2 =-9

E9)°- (2)°
@ G - =) +E8) =9

_-18-_



UNITS 9-11: ANSWER KEY

Cumulative Review

© @y E) )
G~ G2 +(=2)
FA) FH2DH2) = 19

@ -2a —-3b
-2(2)-23(-2)
Cb)- (-6)
)+ (EH) =0

a-b3+2c*
()~ P+ 2D
(2)~ ) +2G-1)
()~ (8)+(H#2)
) +Gg)+ ()= )3

@ 24 (b+c)*
2 (2) (cD+ &0)*

2 (3) (3"
2 (2)(A) = 54

© 3a+2b-Ha-2b
-a-b

(D) 262 -3ab +4 -Bab -3a*
~a*=8ab +4

@ 2(a4+b)-2a0 +H4Hb
20+2b-2g +4b
-0+ Gbb

@) 20.(a-b) - 2b (b+3)
o abobe

@D Yalatrb>)-20% (3-2b)
Ho2 4 Hob? —bor +Hab
—202 +Hab”+4a®b

® Jeo = ap35 =25
5\]’7—_ =3 2.0283 = 18/ 2

@ (3J5) = @ =45

ENERICDY,
g63 = 8BED7 =2H7

Jiz - 2J70s +2J4g

G232 -2 /6> 3 +222@
2J3 - 12{3 +8&V3

22

@O 3Jzo -Vus +2J2s

325 - BDs +205)
eJ5 -3Js +10

2Js +10

-29-



UNIT 12: ANSWER KEY

Equations ¢ Inequalities

1. SOLVING EQUATIONS

)] i
) X=3=12
X =5

@ 12¥n=-5

= =l

G T=15-a
__8;:—&
o =93

@ 13n=-1"
=i
n=4

® 2n=-5 =1
2N :lb

(a)(zn) = (o) (16)
n=¢

® g 3n = 26°
-3n =12
(Y3)(3n)=(T1a)X2)
n=~4

@) -iqq:SX"“rq
-10=5%
(/) -10)=(B)(5%)
2= K%
X = =ad

@Y-6a=-§"
~on =—1
%) )= () 12)
o=2

@ 4 -3-n+T=2n+3
B4 = Ines
n+y =3

n=-I

q-x+3+5x= x-4+7x-4
-8x% 3%
Hy+12 =2 8x -8
Yy 12 =-8"
Y= =00
V) ()= () C20)

=B

M a-2a-2a+1=2-2a+3
—H&F = 5o
Sarl=5"
~ =4
Clh)(=0) =) (4)

oa=-2

@) -2+4n-5-Tn = n¥F2n-|

-3-24= -N16
)2 48
~-8-21n= (o

-2n = 14
SAICTHE NS,

n=-"1

@ 2(Hn-3)=SNn+I5
A =B S
3In -6=15"°
3n =2
() (3n)=( Y2)(21)
n="7

@ 10-2 (x-H4)=X+2
JO A%+ 12 = x42.
~K —
22 =3 =¥+ 0
27 ==t
-Yx =20
E1a)(=h)= G4 Y-20)

X=5

® 4-2(za+5)=304)3
H-ta-10=2a=12-3

R A
-9a =9

CVa)(-a)= C'h)E9)
a=\

contnved

_30_.



UNIT 12: ANSWER KEY
Equations ¢ Inequalities

@ 2-23(pn-H4) = lfgn-l)—l @z T-3(x-2)+» ==3

2-3In+iI2 = bn -2 -2 7-12x+6+ X = -3
14 -2 et 13 3
(g e~ “Nx =16
il Gy @)= CHNEE)
~Ya)Ean) = C'A)(-18) on it
n= 2
VET

@ 2(n+1)-3(@n-4) =8

- = C W
Bl e SN e L
N % Q TeRRIBLY BUSY s <3
~Yn = -1
a) (40 = CY4)(A2)
= &

3(Ux-2)-2(EX+3)=6X

2=k - 10Xk =6 =6%
e 9. PROBLEM SOLVING

)= 4 4 -y
=13 n=23
) @)= () () © 2::
1= X @3;\n+‘7:r-}13
x==3 e 12 2n +"f7= 3'7
S
@ = 2Zn =-4
@ n-2(4n-5)=2n -3 =il () (2n) = ()M
N-8n+10 = 2n-3 & e e n=-=x
2n -2n -2=N+9 o Pl
=-n +\?'D= 2'2;'3 g =n @ ID=2n1=nN -8
=S S5 e 16227 ==8
-Q'ﬂ:"’s @ 2Y1-5=H _3h=-‘8
CEan)=Cha)ER) 2n=16 (/2 =an)= C/3)E18)
n='34q ) (=) 2n)= (£)(6) e



UNIT 12: ANSWER KEY

Equations ¢& Inequalities

- =3 —n
@ Yn =2 = 3n +|
2 2

n-2=\

n= 2

® 5n —(2n+2)=9
En=2n —3 =9
3Y\"‘5+3=O\+3
20 = )

(/3)(2n )= (3)(2)
Nn="4

@ 3n-(n-2)=-2
2n-N+F2 = -
Sl =

2 =4
() (2n) = (/2 (-4)
) ==
=9I _|_|
(0 2n +3 = Hn-)5
-2 +§3= =) 5-3
-2y =2 =¥

C2) (=2n)= (F'2) (1 8)
n=9

@ unis = 6n43
e 5“52 3+S
—2n=%

V) 2n) = (V) (8)
ﬂ — -

@ (en+2) = (4n-23) = -7

2nt = ~HYn+3 =<7
I +E = =72

=2 ==l

(V) (=n)= Y)(H2)

n= b

B (H4n-2) - (n+BD = 2n+1)
Hn-2-nN-5 =2n +I\
ot A
AT
=12

@ (n-6)-B@n-2) = N+
N=-6-?3n+3=+I12%
~DiA =B AL
-3n *_5;3= |fa‘
-2n =15
3) an)= (') ()
N=-5

() gn - (2n+6) = Yn
EN-—2n -0 = 4Yn
breb = 47"
b= -2n
(1) F6) = C'2) (~2n)
531



UNIT 12: ANSWER KEY

Equations ¢ Inequalities

3. INEQUALITIES

- =N
D 2n-3 <n-9
n-3 < -9*
Nn<-G

=X X
@ BxyT7 2 %9
Dsia7 2 =

2x > -1k
() @x)= () “6)
x> -3

@) 20x-4)>-o
’2.><—8*% ~[Ot2
D, & =
() Gx0) > (L))
X>=|

12N 2 Anet
Zn-— ?-:3 L™
In<£9

(5)(an) & (1)A)

n<£s3

®) 14 >2 =-3)-N
\L-\H? 2n-6-N
S =t
20> 1)
Nn < 20

—2N -2n
@ nN-3<2n+7
—n—f< e
-N< 10
n >-10

Dhates B (o ety
-6n %N
Zn » bnn+Hi1x
-4n > 1=

Ci) (1) < C)12)
<=3

@ 3(n-5) £ 20nN+2)
3705 £ 2n+4
N -!%2 ”t+'5

n < 19

Me 7z -h
G )EHa) < C)Ed)
G )

@) <8-?—3>< L
-3x < -5
CREX) > CAYAS)
X o

(D17 2 H(n->) +)
72 Y4 -2 +|
i
22 Z 5N
) G8) = () ([n)
T2 )
n<"-}

@) 2(n-3)-3+2)< 7
2n-6-3n—6 <7
n-124 T
-n £ 19
i =il

D 9%-3(2x-2)>%-5
Uy—Ex +6 >%x-5
S S vl
-3 % G ~5me
-2x >~
1) E3x) < Ch)En)
« <. \Va

-.OF COURSE [T'S OUT OF ST,

BeiNG ouT OF STHE IS
THE LATeST THING 4
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UNIT 12: ANSWER KEY

Equations ¢ Inequalities

3+ 2a -5 > a-H(a-3)
2+200-5 2 a-Ha +12
+3a +30

-A +1cx —Sa 12
-2-!-50\ b i

Bo. Z 14
(=) (Ba) = CVs)(H)
oz s |

Zn-2(23n+44) < '5=n
AN —6bn -3 < |I5-n
2Y‘\"8< 15 - Y’Iﬂ\

an-8% 5%

2n <23

(V) (3n) < (B)(23)

Nn< %34

4. NUMBER LINE GRAPHING

4y =3 = n=)x

2n S

3n =9

C(3)3n) = (V3) 9)
n=-3

<—e >
Ex =4 = 2(x+1)

ot S o o

+4
3x -4 = +27"

2x = 6

(V2)(ax) = (V3)(6)

= 2

< @ >

z

SCH-'-\) < ‘-}n -2
i 11<Lm 2
i 114 iy HE
- £ 10

yy >=10

> e EREEE

=10

2 (3x-1) =2 3Xx—-10
62 2 8% 10
ax-27> -6

—Rse 2 =K
)W) £ C) (8D
X £ 4

M)
u

H(x-3)-%x Z x-6
x -2 -X 2 x-06

=K =
Ix-12 2 X-6
G =)D~

2x 26
OR)@x) = (L) (6)
X >3 &£ e

3

—34-



UNIT 12: ANSWER KEY

Equations ¢ Inequalities

® En<2n-3+n+5
=20 -3n
En< 3n+2
2n< 2
(L) (2n) < ()(2)
n<l

_e—————ﬁ

-8 -3n
@ 1—m"~5 = Bn —1)

3= -

-4n = -8

) (~n) = )ER)
n= 24

€ — =
T‘ 2

3(2x—1) =2 (x-4)-7
X =3 = 2%—8~7
6-;1—3 = oo \e
-3 = ~1573
My = =2
) = (Y )=12)
X =-3

.
<—@ >

=8

@ g-2(n-3)< n-|
B-2n +6 <~
H-2n< A=)
|;:|'i3n< _]—l'-l-

-3n £ -1B

) (an) > CA)G 5)
n>9o%

< P V—

153

@G-3x+DZ5-X

G-3x-3=25-X%X
+x¢ %

=3 = 5~K
$2ax2 S°
—AX > L
CR)E) £ L))
X < -

H

V

(D2t == G
an-2 7 -6
In 7 3
CY3)GEn) > (/3)(-3)
n>-|

H—M
=)

@ z2x=2(x-N+2
DR = Tk =D D

Grve iden-l-'ﬂy)
A Soluhons
S

@ Sran Z72nta)d
% +2n > 2n 3 o +4
3-\—2»;11?’ 2;12'3}.10
8- 10
Folse nequotity)

No Soluhons

Z
SR

N\

(@) 355:'-'\ < 5_;;__,—13
—2n —\H‘_— 3“
-2n £ 4
) En) 2 CAE)
Yy 2 =2

@ Z(&Y-&-l): Cx=-2
X -6x
67‘-4"1 - Qx—L
2=~
(False €quotion)
No Solutong

SN
< 7~

._35 —



UNIT 12: ANSWER KEY
Equations ¢ Inequalities

@ Zn—=1) <4< 2n-1+n
Bini= 3 Sl =+
anny < 3AL|
34 -] (he identity)

B e e e
Al Soluthons

@ x >3(x-2)
X> 3% -6
2% P> =6
E) (-2x) < (=) (=6)

% L3

-12 = =3 (Halse equathon

< N,
\ /

No Solohons

©® 2@a+H) > Sa +17
Hod-8 > Boot 17
At R
—a 29
o, <=9

!

@) 2 (x=tty= =D
Do g oot

ax = —Y
0R)(2x) = (L)ED
¥ = A

3) 3n-5+2n+4 =n+I5
- ST
DN = NEis
—36'_



UNIT 12: ANSWER KEY

Equations ¢ Inequalities

Lm—l+'= i

Hn = lb

) (o) = (4 (1)
Nn=4

@ Nn-b =3(nN-2)+4
Nn-6 =3n -6 +4

BN = A=
2N —b = = b
—2n = 4

ClR)(E2n) = CA)ED
=l =0k

® 15 = 2(x-3) +)
1B = 2% = +|
== 2% =57
20 = 2%
() (20) = (/2) (2x)
jo = X
e = D

© 2n —2—”_;72 -9
2n-9=n-9

@ 2n—8+8= 2+8
2n =10
(2)@n)=(2)(10)
h=5

@ (n+3) -@n+2)= 2n-
2n+3-2n-2L=2n-)

ﬁlﬁlﬁlxﬁl
N+ ==
- =—2
= ak

5n—-@n-3) =n-|\
Sh-2n+3 =n-)
2R3 =N -

-3 _3

on +3 = ~I
zn =74
) ()= () (Y)
=t

@ (Hn32)-(N-1)= tn+l

Hn+2 —n+) =4+l
2143 = 4 H

B e
-y = =2
Nn= A

2 5n-6:\ =N+
-V_'\nz N+
==

)= z)02)
= -QD

® 2n < P=7

n<=7

@ 3(zx-4) =z x+3
G wE
e
Ex > IS
(Ys)(5x) 2 (Vs)(3)
X223

Bays >4 @)
OFS > HA—4
245 > -4
-3a > -9
C)3a) < C4)E)
a< 3

(Q4x-245-6x£ 7
2% +-33 27
-ax < 4
(L) Eax)2 ()

2=



UNIT 12: ANSWER KEY
Equations ¢ Inequalities

@ 2n -5 >3GEn-D+6
2n-=-5 > bn-3+(
SFls > en'%a
-4n -§57 2t
-4n > 8
(& )Eun) < G(R)

N <2

(8) 3(x-3) 2G4
3x-9-2x<-2<¢Y4

| I'“‘é At
X< |5
@ W= s
Ix=7 & St
2 = 12
(Vo) (2x)=()(r2)
xX=06
& 46* >

@) 2(2n-1) < bn -2
6nS3 < 6N=2
-3 < -2 (Hrve identity)

: Al Solo Flon.s

@) 2(gx-2) = 8x+6
X b = §X+h

—b=+b nlse equation)
& ~

\f\io Solu-hons

@ n+3 2z 3(n-1)
nNez =z 323
=N +3:3_>. —3—.3
-2n Z2 -6
¢-'2) (2n) £ (C'2) (=6)

N <>

22 < 2%
D) (22) < (‘/2)(?.){)
] € %

¥ > 1)
< =

<
R

@) 2(n+a)-n < 8
AN+ -n<8E
20+ <87
2n < 2
(RYGan) < () (2.)
N < |

AT

V




UNIT 12: ANSWER KEY

Equations ¢ Inequalities

PRACTICE TEST #1

O 2(n- 5},‘14
D=0 = 1
2Zv) = 24
2(7-1/1\ 2(2"‘)

=itz

@ e~ 5< 7>< -12
AR e
=asp < =6
EDE> (HED
e

@ Hn - C?-Y'} 5)""5
- 1n+3—-i5

m+5‘l6
2n =12

&)(2n)= (H(12)
n=- b

@ 3(4x- \)_%35 \
l:x-—5 12 x—|
-3=- false eq.

No Solutions

P s
&< P

®) 5o > 3(36-8)
Boc 2 Qo —24

con+inved

—ua Z-2Y4
(-5)EHa) £ ()
o< 6
_——}

=3

© @En-2)-(4+3)= 2n

o -2
= -8 =22n
e
..-l_'n = = O
—

pre”
CayEund=(R) (&)

e

PRACTICE TEST #2

© 3 (7.><+7) X+6
bx+2) = 0 x—;fo
bx +zl 6

(5)(5><) (5)63)

X==2

@ 2n 2 5(\()—5)
2n 25\0—'5
-3n 25

BGm £ G)HB)

n<5

B (+2)-2n =N+

ﬂ-\'_%“?bﬂ :—*ﬂn+°l
-2n +3=2n+9
—3p +3E973

-2n =0
D)) = (3)6)

n= -2

@ 2_504—5) 3(n-7)

®a-5 <3Ca—3)

aﬁ“b <30~-¢'—1
S i Gl

oo
HEa) > SING)
=22

S il

2

©®(n+5)-(3n-2)= 2-3n
NyS-3n+2=2-3n
2n+T7=2-2n "

nETe

N -2



UNIT 13: ANSWER KEY

Working With Monomials

D (m*)(m?) = m"®

@D 3B =x"

@ (m®n) (mn™)=mn>

@D (r3£)(rHe) =78

® (3a*b)(2ab%)=6a®b®
© (4x2y®) (@xy®)=8xY?
@D () Cbxty?) = 12843
® (-3x>y)2x?)=-bx"y
@ CaniyP)(znyD=-6ny’
© (@b)@c)(be) =a*bc*
@ m*m@m)an®=am’n
@ (yre)(1yM= 21y7=
® (x*)° = x°

@ @*)1=a'"

® (3y)* = d4y>

©® (2m*)*= gm®

@ (,.ljg)b___ 318

Em9C = onle
@ (agxz)"‘ — a!lxg

@ (20*b)" = ugip>

@) (3x"c5)"(2.><gf‘)3

@xly?) (8x3ye)= 72x7y3
@ (2a2b*)1(a3b)*

(1baBb'™) (a®b*)= lba"™ b'™

@ (-3203x3)* (ox2)?

(966x'®) (03x©)= Gatx '

@ Hx*43)>(xy)*
Cotxey™ (x2g2)s —6t x3y"

@ (dab)*Ca3b)™
(6orb) (b= 6o b®



UNIT 13: ANSWER KEY

Working With Monomials

Qo) (3x* )2(—1x)
C‘%x"'gjl)(8x3)- ~72x7y>

@ a*(abriEa>)?
a>(@a3be) (af) = ~a! be

x> (x*9 ) (xy)”
%3 (x¥9) (x2y>) = x1y*

V%)) 2x* (- xg’*)B
2% (- x34©) = =2 4°

2. DIVIDING MONOMIALS

®I'_j=n @ x’ 3

—-——-—_:x

N3 X

+

@ 5ﬂz = 5 @ le - |
n& n"‘ lez o
@ x* _ | ©® 9atbe® _ 30!
x> x Ga*b'c. 2b
@ By’ 2 o 2x2
6 xy>2 Y
@ ZOa?’qu 5a2c*
12 a b>C 2 b*
@ 3nm* = |
Gn*m> 2
Hx?*y >
2 %%y
@ ot S x*
Ixy> 3y*
@ 4mn3p® _  npt
2w p =

@ 8o5b*c* . Ha"
Ga bdc? 3




UNIT 13: ANSWER KEY

Working With Monomials

@ x>y>z> . X
x235 = 5"5
® 2m>n® _ 2mn*

®obec _ _|
a* b ac®

@ (x2)(xg3) = x>y>

® 20 (a*b)(b3c) =2a%bc
@ 302b)* = Aattb™

@) (-2 wy*)?
@ (abx)Cap)’?

= —-8><33(°

(ot b% N b*) = 16a8%H

@ (2x*93)*(xy)>
Q@ xHy@)(-x392)= -9x"Yy

B) (ab)(bx)(a® fa) -
@ Cab)(bx)(@ec?)a'b et

@ (~xy) %2 9)?
(—xy) (-x°Y )= x 7y

@ A O (c:f‘lo)3
~20 (0éb3) = -2q7b3

. 2mn Cm’-n)(ns)
Zmn (M) (8= 3m>n®

@) -2xy(x*YP*(y 155
—axy (X"L-j")(g 2)= -2y~

DINNER'S READY...

GET iN HERE Ri@HT. NON'!

-
—

MOMS
DINER

CD

Unll‘—

3. NEGATIVE EXPONENTS

| 3
@ ? = MY
@ 'i:f y xlijl
©) nm>. _n=

p3 - mp?
S 3"2:,-4: 2x*

z Yz

s i 3 .49

x>Y X9
@"36\556' _ -2a’b
arc c?

-2m At -
GmoN 3 ns
loa'b 20
ISa3 3b*



UNIT 13: ANSWER KEY

Working With Monomials

@D x>y = = .0
w2 Y 33
~8a_3b _ =Ya?

Ca b 2

@ xgz'\ _ |

>(2.33 )((:)za

-

@ 1262b%cd _ 34

Bab2ed?  22°b

® -n3me?_ - pH
Y)mP n'+m

3

® Hab'c® Hal
o T p3d

@) -3x2973 -3,

g =) 2
X2y Y
® ~Sicm' . —nm?
0w 2

@ & 32)'7‘C2><gﬁ)3
625 (853

8xy*

@ @3 (a2b) = @363 (a8b3) =
a3 b= a?

@ (239 )3 (x3y2) = (g (xCy™)=
L“ ><'°3 = —).__..qsx s

() C-02b52)>(abe) i
(ot ) @™
et
—al

LicH

@) —3x(x 4> 63y)
-3x (g ) 3y)

3
-2 x> =V _ - 3
3
® ab™(ab) = ab? (259 otk 2
@) (g2 (2x3)= (g ) (2x3) =
Tnexy’ = 2 %y |
n?—

€D abe (202b73)" abc (Qa"b™®) =

QaS b e = g
bS

—43-



UNIT 13: ANSWER KEY

Working With Monomials

B cly e =y’ - 2

@) 23l = o7*b> (a2b™)
o’b = b

FREVIEW & PRACTICE|

@ (A(x3) = x®

@ 2n* Enm)= 20 (n?m™)= 20’

Vi s
@ ("D (N3)(n4) = n @ £ 3
@ (@ab) (3a2h3) = ba3b" x*
@ (2a>)@b%) = -2a%b% @ =
n>m* nm*
® (n3)*=n®
© GHT = ® a*bYc _ Hab2
6 1
@ C-lx?’)3= —gx] clue B
> (SO
® 3y) =ay> lSXLkd = 2x3y
bx*Y
@ (=x*)3(2x9)*
(x4 (4x2y2)= -4 =By~ @ ~202bet =gt

S >
(——_).ab’-c,)zfabz>3 Sab>c W b*C
214, 2L b6 = S0 2
(Ha> b (@3b®) = Ha%b e ® -3x99%2 -3
® abab?)? b*)? axySe>  Hy®z?
ab GHbE)(ELe) = —a® 'S




UNIT 13: ANSWER KEY

Working With Monomials

%" =y @ - 3a Cab* )™
TR ~3a (a73b™6¢"3)
3 LS "30_15'@’(3.-3 = _—Sﬂ_
@ a_ b = . a=b*e
s W o}
= -2
&) -2 X_ztj-aa — x> z23 @ -Axy (=x7%Y)
b x™Myz? gt —2xy(x497%) -
_lx33‘-\ = -2Xx
=3 -5 3 9
@a =Jabe= _ =oa
et 97 :
G be abre e T 3
-6 },-3
@ x‘g-ﬂ‘BE 'Z_l abe C_a b ) 3
= Py -2.C_ = -
xry= x 't 2 as b*>
@ -sab™ | -Ybet
10a b 3c"! =i

6 Cab)! 2a™*b)
'b) (2072 b)

SRy e
2a7%h 3

'_HS-



UNIT 13: ANSWER KEY

Working With Monomials

PRACTICE TEST #1

D KFIx)= x'*

D (dy3y) xy>2)>
(s (8 wige?) = 32504723

3 (3a2b7)* = qato?

D x*y3=z4 _ g2
=<2Y3 2 =

B —iereld?

G a*b e ?d*
el <_3 d - ‘7616\
3abk*c 2ab3

@) xcd'a(-x'zgj)B o
xy2ExY3) ==X Y =3s

WeLL, iF YOU'Re GONNA
DRive 1T AROUND ALL THe TiMe,
OF COURSE YOU'RE GOING TO

HAVE TROUBLE WITHIT 4

PRACTICE TEST #2

® (®)(n®) = n'°

@ (Ha*b) (111593)3 by
(4a*b) &a3bT)= 32a° b'°

@ (-2 xggiz)g = -8 x%jqﬁ o

@ 2ab3d” - 2b*
G*bcHa™* ac
B 18xy3”
q )(—23—52‘
33211 =3

@ 2xy2(x>91)” e
Ixy (< CYR) = 3% Y =

By
%<5









